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0.1750.1500.1250.1000.0750.0500.0250.0000.025

Fiber 2473, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1 0.2

Fiber 4337, dchi2frac= 1.0



2 0 2

2

0

2

data

1.41.61.82.02.22.42.62.8

2 0 2

2

0

2

model

1.21.41.61.82.02.22.42.62.8

2 0 2

2

0

2

residuals

0.060.040.020.000.020.040.06

Fiber 438, dchi2frac= 1.0



2 0 2

2

0

2

data

1.501.752.002.252.502.753.00

2 0 2

2

0

2

model

1.41.61.82.02.22.42.62.83.0

2 0 2

2

0

2

residuals

0.150.100.050.000.050.10

Fiber 4330, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.050.000.050.100.150.20

Fiber 1286, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.150.100.050.000.05

Fiber 824, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.10

Fiber 134, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.10.00.10.20.30.4

Fiber 2998, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.80.70.60.50.40.30.20.10.0

Fiber 4534, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.1

Fiber 463, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.3 0.2 0.10.0 0.1

Fiber 369, dchi2frac= 1.0



2 0 2

2

0

2

data

1.41.61.82.02.22.42.62.83.0

2 0 2

2

0

2

model

1.41.61.82.02.22.42.62.8

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1 0.2

Fiber 482, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.250.200.150.100.050.000.050.10

Fiber 1418, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.60.40.20.00.20.4

Fiber 4078, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.250.200.150.100.050.00

Fiber 278, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.100.150.20

Fiber 4279, dchi2frac= 1.0



2 0 2

2

0

2

data

1.41.61.82.02.22.42.62.83.0

2 0 2

2

0

2

model

1.501.752.002.252.502.753.00

2 0 2

2

0

2

residuals

0.1500.1250.1000.0750.0500.0250.0000.0250.050

Fiber 801, dchi2frac= 1.0



2 0 2

2

0

2

data

2 1 0 1 2

2 0 2

2

0

2

model

2 1 0 1 2 3

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.10.20.3

Fiber 1452, dchi2frac= 1.0



2 0 2

2

0

2

data

1.251.501.752.002.252.502.753.00

2 0 2

2

0

2

model

1.21.41.61.82.02.22.42.62.8

2 0 2

2

0

2

residuals

0.100.050.000.050.100.15

Fiber 195, dchi2frac= 1.0



2 0 2

2

0

2

data

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

model

1.61.82.02.22.42.62.83.0

2 0 2

2

0

2

residuals

0.40.30.20.10.00.10.20.3

Fiber 2746, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.15

Fiber 376, dchi2frac= 1.0



2 0 2

2

0

2

data

1.251.501.752.002.252.502.753.003.25

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.4 0.20.0 0.2 0.4

Fiber 4435, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.6 0.4 0.20.0 0.2

Fiber 4643, dchi2frac= 1.0



2 0 2

2

0

2

data

1.001.251.501.752.002.252.502.75

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.250.200.150.100.050.000.050.10

Fiber 1114, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.300.250.200.150.100.050.000.050.10

Fiber 4452, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.300.250.200.150.100.050.000.050.10

Fiber 1157, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.2 1.4 1.6 1.8

2 0 2

2

0

2

model

1.0 1.2 1.4 1.6 1.8

2 0 2

2

0

2

residuals

0.100.050.000.050.10

Fiber 1197, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.150.20

Fiber 472, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.050.000.050.100.15

Fiber 736, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.200.150.100.050.000.05

Fiber 790, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2.002.252.502.753.003.253.503.75

2 0 2

2

0

2

residuals

0.250.000.250.500.751.001.251.50

Fiber 2211, dchi2frac= 1.0



2 0 2

2

0

2

data

1.251.501.752.002.252.502.753.00

2 0 2

2

0

2

model

1.21.41.61.82.02.22.42.62.8

2 0 2

2

0

2

residuals

0.050.000.050.100.15

Fiber 4429, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1

Fiber 2067, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.60.50.40.30.20.10.0

Fiber 143, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.10.00.10.20.30.40.5

Fiber 2706, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.40.30.20.10.00.1

Fiber 2538, dchi2frac= 1.0


